ota 09/04/2015

. - ?,4 lﬁ-r 1° \MN‘J}'L A wwrw\,(\:\uﬁ
1515
— T L : 356298 on’
t ¢ 0 # L,%‘Ilaﬁ—zllz,
v M:Zﬂ K”“h W:4.36 Mf(
10 1
.3] C ul/h- V[; 31,6 K“/‘vl T.Ot 2,14 Hf{ ﬁ ﬁlh‘\tel"‘j
V4
L€ x)a '
ey Moy e 2 egegixie = 4 np,
1 355294 xio"
Np 4
0ysny - 36 xto NP (~. Zfo?S) s ~2.25 MP.

396258 xleb




s =114

60 .‘)S‘ LY lc :"

¢

é

~2,2)

5

7

\.

/

2.1

1419

10

QO A
=D

14 |

Te
hileq




rz [c.‘[.‘ ; .
. )

d : :

' |

F e e oo s

' uwr.wﬁuﬁ CLS wen ni Ty

a Taeyl-we

c"“"rfu/n\

0{, - am%’l"\ Wﬁ‘e(.

/"% o"h(/hﬁ qﬂ‘ﬁ;. -S
h

ﬂa'a'\bﬁ: lﬂ‘%& LYIN
] L |

o ¢ ¢ O M J/

.SM::D




Ty
__.1 > —1, 5
A
M

- A

+

_.b%l —"“A‘S(*'(')"""‘AS(A“"—> - O

—

b

—

A

ld

1
[g% \ \ |
It MA;%-\AASC ﬁmASof +nASx. =0

2y *n(ASJrA;) A =™ (As A+ A c) o









"I

L':'_'"“' 11*2,0

30 L'rr- "

635 («z.sg +3 08)

- - 0.0}19%3
3ox4¢

(1/:

A . 12§6K46 + 3.08 % 4 J 3:].'?,3 o

8 42.56 + 3,08




y \lfo{, L~’\+\/;+*Ll)d

2x 34133 )
0.0119} x 46

(/

1

2 Aﬁi

S

r}

—

e

00F193 w4 [—1 +\/’1}.

3.9 Yi-1 " \/1 + 22 & ] = 1286 tm

=

<

r)



L

‘li’v . ?,4!9-"—'/\;' 1:12.84 “*
Co

hle e ool He1o=A

n

A

-~
-

T .

Lr 2o

!D)(_3 . MA\S(X"L)L o MAS(".-)()z

3

20 x ‘2'845
X

2
L G35x30g x 885" ¢ (35 x 1256 x 330 -

=110 33¢ e



~3.6¢ < 3M.( KVw
"I v I\z,ae ¢7 M St
Go .

[,'i ¢ ¢ o0~ L)élﬂ ,+~-—T“'33£0,3

4
qz“ - ﬂ. )’ < L 516 x 1o x(ng‘gll xlo‘) —| - 3'58 ﬂrf
I L 110394 x10°
M 316)‘105 | 11
G;.‘m{: V=7 6.35 x 2 — " (33' on);go'gm‘
iy 11039( %19



“F

5o o

b

"

e ¢ o0~

h ¥

216
v.C.
] ~3.4¢
12,84 7
T ,/
7/
T .

m=6.38



con m= 15 2z 1F.Fo  om

I 2 215011 md

n

||~M M 31.¢ Kk/w

4
o . #sLﬁ'xlo 1 0_115}ox4;) :-24; MY&
¢ my
2ISol » (0

‘ \
.. s ™ L S 15_x-3|'£ i _— x 283 xlo ¢ 62.39 "Pﬁ
S.wl P /

21So0n x 10(7




4 ET

h ¥

4T

e ¢ 0 A

Co

h ¥

m=6.38






S J )
Cl} \___//
i \
v L
N x L"'v“'{?_ L*_‘i‘. A n *7°¢C A‘:o
SRR I R SR

/‘

(4

Ln'l. M A5(4-n)+ n A_‘_( ('zt-c) 0

Lenie PR 1Ma Al S.ﬂeo



3
7
A

- ,:__: QN
il
= M<e
Tb
Y
AN uﬂa/n/&q
G, @w/nm =



i\ LA/ AR AT

)




V4224 22277/ I/ﬂ \3
%
!, . L)W
(AN RES Y
=+ ®
10
e el 4
ot At‘. =2
- AS k6 e 0.044
Adoo % U1

hs 2b e
d:2]a



r)

p \lfo{, s’\.|.\/;+f

- 0,044 x ~1+\/’l+~ a] 2

©.04y

' = §£.37 > 4
= 0.92L4 [’4+JQ+45:4§ 1 37 m Ere






-t 50 7‘1+ Lo (7(,—4)1'1-. 45){‘”0 x (Z'I "7() =0

— S50 At ) Lo At — 320 % 4 L4 4 1940.4 —392.4y =0
—12 30 — 41244 + LS80 4 =0

x1+ 4l x — 1S8.04 To

pi
Lz — L'M A~ (61‘29) + 2,5'8.0; S
’ 2

_1o.62 4 26.14 = 582 om



_ . L
A-c) oy /A (45!
' )

- )
<<
M. )
—+ ' N
\
-~ N\ A,
\ -_I\M -
R |
/ fa
- ~ ~ \»
| ~T .\
o0 ~
4 i
b ~
R | %- ={
eAQ .
A ‘s
I}
( \ﬁ —




W) 44'/‘/\
J
= Vi C .
e VR r«b Al bane Sy S ﬁhﬂ,\.

/

C - \ e .4

> e © aeTchaJ C CO'Q*U F

(XN -~ L3N
—-— Mql‘l M."VTTQ © .¢ﬁg-—.75 Em(




— pre e b 2 RIS

ij 9('1 £ 7‘«:'-4-' Ao Y s we 'u.e_.Jw?
oleds Aoyt g AL bty D
\' 2 A
‘TI:YMC (& & x&
— w1 A A Aﬂ.wk%@“va&u'); X Lo S.;[a‘)

+
1 . Sh("l} 7(2:[7 S,,[:yz)

?th m
‘ _ 1%: x’t*zz Sh(?'h.)

2




